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PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet,

1- It had not rained on the prairic for several months. Because of the drought, the elimate
had hecome very ——-------- §
1) unsicady 2) rigid 3) intgnse 4) arid

2-  Deserted for six months, the property hbegan to look more like a jungle and less like a
residence—weed grew ----—--—-- in the front yard.
1) unchecked 2y unjustilicd 3) complicated 4) scanty

3- Can you please --—------- this last part of the lesson for me; I’m not sure [ understood.
|) recapitulate 2) identity 3) postulate 4) recount

4-  Gerry's dissatisfaction with our work was --—--—--- in his expression, although he never
criticized us directly.
1) vulnerable 2) bright 3) implicit 4) humble

5-  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
'y appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help you -—---—--- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is -----—----- , lasting from a few hours to a couple of days.
) imprecise 2) ephemeral 3) superficial 4) swift

8-  Ilis words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  TTundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --——--——-- the building
immediately.
1) expel 2) evacuate 3) disperse 4) detach

10- Computers have helped solve some of the mathematical --------— which have puzzled

man for many centuries.
1) conundrumns 2) caprices 3) artifacts 4) chronologies
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer on your answer sheet.

When Newton arrived at Cambridge, the Scientific Revolution of the 17th century was
already in full force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) --—------- refined by Galileo—was well
known in most European academic cireles.

Philosopher René Descartes had begun to formulate a new concepl ol nature

(12) v an intricale, impersonal and inert machine, (13) ------—-- . like most
universitics in Furope, Cambridge was steeped (14) ————— Aristotelian philosophy
and a view ol naturc resting on a geoceniric view of the universe, (15) --—---—-- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the same

13- 1) Although 2) As though 3) Because 4) Yet

14- 1)in 2) for 3) with 4) of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the guestions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

L-type colonies indistinguishable from colonies of mycoplasmas are occasionally seen
on culturc media, cspecially [rom clinical materials. Although these colonics appear
spontaneously from certain species, they are also produced as a result of phage
activity. penicillin, antibody, and various antimicrobial substances.

In diagnostic work, onc occasionally notices bizarre and highly plcomorphic [orms
in smears. Some ol these are the forms that give rise to [-lype colonics. They may
consist ol long filaments that show beading. Some lilaments break up and produce
large bodies and coccal forms. Sometimes single bacilli will give rise to large round or
pyriform structurcs,

The taxonomy recommended in the Approved List of Bacterial Names is that C.
fetus is divided into 2 subspecies, C. feius subsp. Venerealis and C. fetus subsp. fetus.
The lormer organism is lound in the prepuce of carricr bulls and the genital tract ol
infected cows and is an important cause of infectious infertility and sporadic abortion.
The genus Campylobacter contains specics causing important genital and intestinal
infections of animals, as well as saprophyvtic species. The recent interest in C. jejuni as
an important zoonosis in humans has resulted in improved classification of the genus.
lor long generally neglected in velerinary bacteriology. Al one time Campylobacter
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was classilicd with Vibrio, but the [ormer are non oxidizers and the latler [ermenters,
and for this and for other reasons the two genera are recognized as distinct.

All the following items may be involved in induction of L-type colonies EXCEPT --—-------,
1} phagocytosis 2) antimicrobial agents
3) antibody production 4) fermentation process

Ahont the L-type colonies, which statement is compatible with the text?

1) Coccal forms of bacteria could be resulted from breaking up of filaments.

23 All bacilli would lead 1o pyrilorm or large round structures.

3) Large bodies and coccal forms are resulted from single bacilli.

4) Some [laments could produce large round or pyrilorm struclurcs.

Which of the following organisms is mainly invelved in abortion and infertility?
1) C. fetus subsp. Vencrealis

23 C. fetus subsp. Fetus

3) C. fetus subsp. bovis

4) C. fetus subsp. Venerealis and subsp. Fetus

According to the text, which of the following is involved in Campylobacier infection?
1} Iimmune system 2) Digestive and genilal sysiems

3) Genital system 4) Respiratory system

Which statement is true according to the passage?

1} Vibrio is considered as a fermenter.

2) Campylobacter 1s included in [ermenters.

3) Campyvlobacters are cateporized as oxidizers.

4) Nowadays, Vibrio with Campylobacter are classilied together.

PASSAGE 2:

lungi serve essential roles in the global ecosystem. Their activities degrade organic
matter, recvcle nutrients. create soils, and promote herbal growth. Without their
saprobic activities. humans will drown in a deep layver of leaf litter. They parasitize
humans, animals, and plants, and regulate biodiversity. They serve as food for humans
and animals, and produce fermentation products for humans. Fungi have versatile
biochemistry and produce myvriads of chemical compounds. Many of these
biochemicals arc uscd by humans as medicines and other industrial chemicals, Fungal
discascs allceet the health and conscquently the survival ol wild and domesticated
animals. In this regpect there s a closc relationship between humans and animals since
they sulfer from many ol the same fungal pathogens, The zoonotic discascs are able (o
be transmitted from wild, agricultural, and domestic animals to humans either directly
or through veetors.

All of the following are considered as the saprobic activities of fungi EXCEPT c—mmeem—,

1} breaking down organic matler 2) reeyeling nutrients

3) stimulating the growth of plants 4) serving as industrial chemicals

Which of the follweing is NOT performed by fungi?

1} Providing {ood for plants 2) Possessing a parasitic cflccl

3) Making [ermentation products 4) Regulating bioiversity

In the phrase “myriads of chemical compounds”, the word "myriads" means ------------- .
1) an average amount 2) countless

3) very rare 4) a limited number
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What are zoonotic diseases?

1) Common diseases between animals and humans

2) Different diseases that atfect animals

3) Deseases caused by exposure to variant pathogens

4) Deseases caused by pathogens transmitted from wild to domestic animals
Which of the following is considered as a vector?

1) Any transmitter organism 2) Humans exposed to pathogens
3} Infected animals and humans 4) Animals affected with a disease
PASSAGE 3:

Nucleic acids are high-molecular-weight compounds that play a fundamental role in
living organisms as a store of genetic information; they are the means by which this
information is utilized in the synthesis of proteins. On hydrolysis, nucleic acids yield a
mixiure ol basic nitrogenous compounds (purines and pyrimidines), a pentose {ribosc
or deoxyribosc) and phosphoric acid. The main pyrimidines lound in nuclcic acids arc
cylosing, thymine and uracil.

The nucleotides are arranged in a certain paticrn; DNA normally consists ol a
double-sirand spiral or helix. Fach sirand consists ol aliernate units ol the deoxyribosc
and phosphate groups. Attached to each sugar group is one of the four bases, cvtosine.
thymine. adenine or guanine. The bases on the two strands of the spiral are joined in
pairs by hydrogen bonds, the thvmine on cone strand always being paired with the
adenine on the other and the cytosine with the guanine.

The sequence of bases along these strands carries the genetic information of the
living cell. There are several distinct tvpes of ribonucleic acid, which are defined in
terms of molecular size, base composition and functioenal properties. They differ from
DNA in the nature ol their sugar moicty and also in the tvpes ol nitrogenous basc
present. Apart [rom their importance in the structure ol nucleic acids, nucleotides exist
[ree as monomers and many play an imporlant role in cellular metabolism,

Which statement is inconsistent with the definitions mentioned in the first paragraph?
1} Genetie inlormation is reserved in nucleic acids.

2) Pentose and phosphorie acid are viclded from nucleic acids.

3) Basic nitrogenous compounds are produced during hydrolysis.

4) Nucleie acids are viclded [rom a mixture of basic nitrogenous compounds.

Which of the following bascs is NOT considered to be a pyrimidine?

1) Adcenine 2) Uracil 3) Cytosine 4y Thyminc

The connection of the bases on the double-strand helix of DNA is established by -—--—-—-- 3
1) hydrogen bonds 2) protein bonds

3) phosphate groups 4) filamentous units

Which items distinguish DNA from distinet types of ribonueleic acid?

1) Nitrogenous base and other clements 2) lunctional propertics

3) The scquence of bascs 4) Basc type and sugar content

Which of the following could be the best title for the passage?

1} Synthesis of proteins 2) Genetie information

3) Nucleic acids 4) Deoxyribosc
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